
����������	
���������
���

�����	���

�������	������


��	�������	������������	����	������
�����
����� ��!���

http://www.stat.umn.edu/~kb/classes/5401

Copyright© Christopher Bingham 2005

Statistics 5401                                                   Lecture 40                                                  December 12, 2005" """ # # ## $ $$$ % %%% & &&& % %%% ' ''' ( ((( # # ## ' ''' & &&& ) ) )) * *** + +++ + +++ ) ) )) , ,,, - --- $ $$$ % %%% & &&& . ... # # ## / /// $ $$$ * *** ) ) )) + +++ , ,,, % %%% # # ## . ... ( ((( - ---
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Cmd> x # row label is population number
           x1          x2
2      15.606      27.451
1      7.2295       29.53
1      9.9958      30.821
3      17.241       31.21
2      16.212      25.889
1      10.644      28.937
3      20.954      31.244
2      14.528      24.695K��	�>�������	����������������	�
>�������>���8����������	����	���
���5
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��������������8�	8���88��������
���>��������

Cmd> d <- matrix(dmat(8,0),\
labels:structure(getlabels(x,1),getlabels(x,1)))

Cmd> xs <- standardize(x)

Cmd> for(i,1,7){for(j,i+1,8){ # loop over 1 <= i < j <= 8
d[i,j] <- d[j,i] <- \

sqrt(sum(vector((xs[i,]-xs[j,]))^2));;}}

Cmd> print(d,format:"6.3f")
d:
       2      1      1      3      2      1      3      2
2  0.000  2.052  1.845  1.551  0.641  1.260  1.936  1.131
1  2.052  0.000  0.807  2.340  2.485  0.800  3.148  2.536
1  1.845  0.807  0.000  1.629  2.418  0.769  2.459  2.658
3  1.551  2.340  1.629  0.000  2.147  1.735  0.831  2.683
2  0.641  2.485  2.418  2.147  0.000  1.746  2.396  0.609
1  1.260  0.800  0.769  1.735  1.746  0.000  2.486  1.911
3  1.936  3.148  2.459  0.831  2.396  2.486  0.000  2.995
2  1.131  2.536  2.658  2.683  0.609  1.911  2.995  0.000

!���>��������������>���������5
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���	8�	8���������������	�����	�
�������	5

Cmd> neworder <- vector(2,3,6,1,5,8,4,7)

Cmd> print(d[neworder, neworder],format:"6.3f")
MATRIX:

���	��������	8���������	�������	��������	�������	8��������5
K���������������	����������	���
����	�����5��	����
�����
>�����������

d
�

Cmd> temp <- xs %*% xs'

Cmd> d <- sqrt(diag(temp) + diag(temp)' - 2*temp)

Cmd> print(d,format:"6.3f")
dd:
       2      1      1      3      2      1      3      2
2  0.000  2.052  1.845  1.551  0.641  1.260  1.936  1.131
1  2.052  0.000  0.807  2.340  2.485  0.800  3.148  2.536
1  1.845  0.807  0.000  1.629  2.418  0.769  2.459  2.658
3  1.551  2.340  1.629  0.000  2.147  1.735  0.831  2.683
2  0.641  2.485  2.418  2.147  0.000  1.746  2.396  0.609
1  1.260  0.800  0.769  1.735  1.746  0.000  2.486  1.911
3  1.936  3.148  2.459  0.831  2.396  2.486  0.000  2.995
2  1.131  2.536  2.658  2.683  0.609  1.911  2.995  0.000
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       2      1      1      3      2      1      3      2
2  0.000  2.052  1.845  1.551  0.641  1.260  1.936  1.131
1  2.052  0.000  0.807  2.340  2.485  0.800  3.148  2.536
1  1.845  0.807  0.000  1.629  2.418  0.769  2.459  2.658
3  1.551  2.340  1.629  0.000  2.147  1.735  0.831  2.683
2  0.641  2.485  2.418  2.147  0.000  1.746  2.396  0.609
1  1.260  0.800  0.769  1.735  1.746  0.000  2.486  1.911
3  1.936  3.148  2.459  0.831  2.396  2.486  0.000  2.995
2  1.131  2.536  2.658  2.683  0.609  1.911  2.995  0.000    

Cmd> cluster(x) # cluster using Average Linkage (default)
 Case  Number of Clusters �

��	����
�	��
	������
����

   
Criterion      Dendrogram (inverted tree)
              +                     
       2.3442  +-----------------+   
       2.1453  +--------+        |   
      0.91951  +--+     |        |   
      0.83117  |  |     |        +--+
      0.80378  |  |     +--+     |  |
      0.76945  |  |     |  +--+  |  |
      0.60943  |  +--+  |  |  |  |  |
  Cluster No.  1  4  8  3  6  7  2  5
   Clusters 1 to 8 (Top 7 levels of hierarchy).
   Clustering method: Average linkage
   Distance: Euclidian (standardized)

�
��	����
�	��
��������
���

�������������7�������������	�������������	��5
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4
�	��������������	�5
	���������	�����8�����������8��8	���	�������8����������>�������>�
������	��������	��81
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��
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0��	8���������8�	����8��cluster()��������	�������������	�����������
�������������������	���8������	��
�����	�5
������	������������FACT�	����������K����>��	�����	�>����>����
����5
K�������	������������	�������	
�����	�>����

cluster()
�����������	

������	�������������5K�����8����������>�����������������>������	��	��������	��������	�����	��8>����������	>�����>�	�����	5
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� ���=3�4�� ���=3�4
� ���=3
4��8� ���=3�4>�	���	��8�������
�������8�������1�5���2�����>��������
��8�
I�8���8���������
81� ��� �� ���2=813�4�3
��42=18��	�8��


2��
=15�����5���2��=�5����81� ��� �� ���2=813�4�3
��42=18��	�8��


2��
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��5
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�
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� ���=3�4�� ���=3�4�� ���=3�4�� ���=3
��4�� ���=3�4�
� ���=3���4
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•
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•
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•

����
1��	��������	�� ��� ��8� ��� 2
� ���=3��
��4�� ���=3���4�� ���=3�����4

•

�����1��	��������	�� ��� ��8� ��� 2
� ���=3������
����4�� ���=3���4

•

������ ���=3��������
������41��	��������	�� ��� ��8� ��� �������>�2
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K��������	��������8�������������
Clus ID 1 2 3 4 5 6 7 8

Stage 0 {1} {4} {2} {5} {7} {3} {6} {8}

Stage 1 {1} {4} {2} {5,8} {7} {3} {6}

Stage 2 {1} {4} {2} {5,8} {7} {3,6}

Stage 3 {1} {4} {2,3,6} {5,8} {7}

Stage 4 {1} {4,7} {2,3,6} {5,8}

Stage 5 {1,5,8} {4,7} {2,3,6}

Stage 6 {1,2,3,5,6,8} {4,7}

Stage 7 {1,2,3,4,5,6,7,8}

�	�����7���������	���	��������������������8���������������	�����8��
�������
>������	��	��������	�5���	����	��������������	��������	5
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� ��� � ��� � ��� & &&& . ... # # ## � ��� + +++ � ��� , ,,, % %%% - --- � ��� ) ) )) & &&& � ���
•

������������
8��9G�H;
�����=���38�G����8�H���4

•
���������������
8��9G�H;
�����=��
38�G����8�H���4

•0��	����������8��9G�H;
�����=16G8�G����6H8�H���2�16G�6H2
K���������������6G��86H�����
������	��������	��8��������������6��� �	8GH����5
K����
�������
�����8�8�����������
��8GH�������8�����5
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•
����	��8�����8

� ��� 9G�H;
�����=16G� ���G����6H� ���H���2�16G�6H2

8��9G�H;
�����=
6H8�G����6G8�H����6G6H8GH���
6G�6H


�������������	������	8��9G�H;
�������

���8�8�����������������	��8�����8��������������	�������	��8�5
•
 �	8�����8

� ��� 9G�H;
�����=16G� ���G����6H� ���H���2�16G�6H28��9G�H;
�����=
3�G�8G�����6H��H�8H�����6G�8GH����16G6H24
>����G�=��6G���6�5K�������6����8������������������������8�����
8�����5
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•
��8��������8
� ��� 9G�H;
�����=1� ���G����� ���H���2��8��9G�H;
�����=18G�����8H����2���8GH�����
K����>�����	������>�����>������
��8�����	�	���	8������������������
������	�5
•
�������������8��8�����8��	�����
�����8�������	����
8��9G�H;
�����=18G�����8H����2��
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� ��� � ��� & &&& + +++ $ $$$ , ,,, � ���
cluster()

cluster(x,nclust:m,method:"average")�x��������	�
�
•
�������	����������5

•
�	���������	����������������
8���	���������������	�

•
�	�������8��8	��	����	������6���6�����555�6��1�8�>����������	25
��8������������������������	����
>���6������	�����	����	����������
��	������>������1��62������	��	��>�	5
������8��

"average"
1���8������2���

������
"single"�"complete"�"ward"�

"mcquitty"�"median"�	"centroid"�������������	
�����	�
5
cluster(dissim:d,...)

��8
cluster(simil:s,...)

8�������	��������
������8��������	����	������	���
���	����5
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cluster(x,nclust:15,method:"average",\
reorder:T)
�	�����������������>���LDFLMDLDM
	�>���	���������������������	�5K���������������	�����>����������	���
����������	5

Cmd> cluster(x,reorder:T,tree:F)
 Case  Number of Clusters
 No.   2  3  4  5  6  7  8
 ---- -- -- -- -- -- -- --
   1   1  1  1  1  1  1  1 Cases are not in original
   5   1  1  4  4  4  4  4 order
   8   1  1  4  4  4  4  8 1st 3 from group 2, next 2
   2   1  3  3  3  3  3  3 from group 1, last 3 from
   3   1  3  3  3  6  6  6 group 3
   6   1  3  3  3  6  7  7
   4   2  2  2  2  2  2  2
   7   2  2  2  5  5  5  5�����	����8�	���������8��8	��	����

tree:F5K���	�������	����>�	�
�	�����3�����41������	� ��� ���2
�	�����3��
��41������	� ��� ���2
�	�����3���41������	� ��� ���2
K���������������>������������
����������	�����������
�	��
������	�
�������8����	��������	�5
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�����8����>���������8�	8�������	�
���������8������������standard:F5�����8����>������	����������������
���

class:F
Cmd> cluster(x,standard:F,class:F)

    Criterion
              +                     
      8.7049  +--------------+      
      6.7618  +--------+     |      
      3.7131  |        +--+  |      
       3.266  |        |  |  +--+   
       2.552  +-----+  |  |  |  |   
      1.9931  |     |  |  |  |  +--+
       1.676  +--+  |  |  |  |  |  |
 Cluster No.  1  8  6  3  4  2  5  7
              Clusters 1 to 8 (Top 7 levels of hierarchy).
              Clustering method: Average linkage
              Distance: EuclideanK����	����8�������8��8	��	��1
class:F
2��8���8AFA�?E�AM�LM@�DM

�����8���8�������1
standard:F
25K���������7���������	���	����������

�����>����������	��	���	��8��
�������������	�5
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�������������������������	���	�������8�����������>�����7�������8�������������5
Cmd> stuff <- cluster(x,keep:"all") #prints nothing by default

Cmd> compnames(stuff)
(1) "distances" 8 by 8 symmetric matrix
(2) "classes" class table
(3) "criterion" distance apart of merged clusters

Cmd> print(format:"6.3f", stuff)
STRUCTURE:
component: distances standardized distances
(1,1)  0.000  2.052  1.845  1.551  0.641  1.260  1.936  1.131
(2,1)  2.052  0.000  0.807  2.340  2.485  0.800  3.148  2.536
(3,1)  1.845  0.807  0.000  1.629  2.418  0.769  2.459  2.658
(4,1)  1.551  2.340  1.629  0.000  2.147  1.735  0.831  2.683
(5,1)  0.641  2.485  2.418  2.147  0.000  1.746  2.396  0.609
(6,1)  1.260  0.800  0.769  1.735  1.746  0.000  2.486  1.911
(7,1)  1.936  3.148  2.459  0.831  2.396  2.486  0.000  2.995
(8,1)  1.131  2.536  2.658  2.683  0.609  1.911  2.995  0.000
component: classes Same as class table
(1,1)  1.000  1.000  1.000  1.000  1.000  1.000  1.000
(2,1)  1.000  3.000  3.000  3.000  3.000  3.000  3.000
(3,1)  1.000  3.000  3.000  3.000  6.000  6.000  6.000
(4,1)  2.000  2.000  2.000  2.000  2.000  2.000  2.000
(5,1)  1.000  1.000  4.000  4.000  4.000  4.000  4.000
(6,1)  1.000  3.000  3.000  3.000  6.000  7.000  7.000
(7,1)  2.000  2.000  2.000  5.000  5.000  5.000  5.000
(8,1)  1.000  1.000  4.000  4.000  4.000  4.000  8.000
component: criterion in reverse order of computation
(1)  2.344  2.145  0.920  0.831  0.804  0.769  0.609�����8����>������	�����������������

keep
�����

"classes"�"criterion"�
"distances"�vector("classes",
"criterion")�vector("classes",
"distances")
�	

vector("criterion",
"distances")
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K�������������������������������>��	�����������������>�	8
nclust18�������25K��������������87������	���������������������7������	�5

I����
keep
�����������	������	����������

tree:T
�	

classes:T
��	���	������

���8��8	��	���	�������������5
print:T
�	��������5
�������������8���������
���	�

euclid(x,y)
�������������8���

8������������ �� ��� ���8standardize(x)����8�	8����������������
x5

Cmd> euclid <- macro("sqrt(sum(vector(($1)-($2))^2))")

Cmd> xs <- standardize(x) # standardize data

Cmd> euclid(xs[1,],xs[2,])#row 1 - row 2  standardized distance
(1)      2.0519�����	��5�
��>�������������	�>��������������8�����������������5
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